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(%13) A:matrix([x,y,S,—lS],[1,2,—1,3],[0,1,2,—7]);

x y 5 -18
1 2 -1 3
e 1 2 =7

(%i5) triangularize(A);
1 2 -1 3
0 1 2 -7

@ 0 -2y+5x+5 7y-17 x-18

(%115) linsolve([-2.-y+5-x+5=0, 7.y-17.x-18=0], [x, y1);
[x=1,y=5]
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/ (%i1) A:matrix([-2,0,1],[0,5,1],[x,y,2]);
r--Z (] 1]
(e 5 1

Y

(%i2) triangularize(A);
-2 o 1 \
2 -10 -2

0 @ -10z+2y-5x
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(%i1) eliminate([x+2-b,y-5-a, z—a-bl,[a,bl);
(w01 [10 z-2 y+5 x]
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(%i1)

(%i2)
(%02)

(%i3)

(%i4)
(%043

(¥iz2)
(%022)

%123)

(%0233
(%128)

(%a28)

(%133}

Asmatrix([1,2],[02,-21);

1 2
2 -2
eigenvalues(A);

[E‘B»ijtlsljj

eigenvectors(A);

[[[-3,2] ,[1,1] ],[[[1,4] ][[1,%]]]]

'I‘oad("d.iagll);
/usr/local/Cellar/maximas/5.46. 8_3/share/maxima/5.46.0/share/contrib/diag.mac

J:jordan(A);
[r-3,13,02,11]

displordan(l);

-

P:ModeMatrix (A, jordan(A));

PAAC-1).A.P;
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[/ (%i1)

(%12)

K a0

(%i3)

A:matrix([B,—4,0,1],[2,2,0,—4],[1,—6,0,5]);
3 -4 0 1

2 2 0 -4
1 -6 0 S
rank(A);

2
triangularize(A);
3 -4 0 1
0 14 0 -14
e 0 @ 0
ecl:x-3-a;
x-3 a
ec2:y+4-a-b;
y-b+4 a
ec3:z;

z

ec4d:t-a+b;

t+b-a
eliminate([ecl,ec2,ec3,ec4],[a,b]);
[9(y+x+t),z]

triangularize(matrix([3,—4,0,1],[0,1,@,—1],[x,y,z,t]));
3 -4 0 1
9 3 0 -3

@ 0 3z 3y+3Ix+3t
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rank(matr'ix([3,—4,0,1],[2,2,0,—4],[1,—6,0,5],[1,0,0,0],[0,1,0,0],[0,0,1,@]));
4

rank(matrix([3,-4,9,1]1,[2,2,0,-4],[1,-6,9,512);
2

rank(matrix([1,9,0,0],[0,1,0,0],[0,0,1,01));
3




